Text 3. 

The Structure of the Income Statement

Текст взят из Barker, R. Short Introduction to Accounting / R. Barker. – Cambridge : Cambridge Univ. Press, 2011. – 215 p.
In text 3, we are going to analyze the main elements of the income statement in general and of Albert’s income statement for the past financial year in particular (for “Albert’s income statement for the past financial year” see Table 2 at the previous page).

Gross profit (sometimes expressed as a percentage gross margin) is a subtotal in the income statement, equal to revenue less cost of goods sold. The gross profit from making a sale is the net benefit to Albert, being the amount that he earns in revenue less the associated costs of goods sold that he has to incur.

The concept of gross profit is sometimes expressed as a percentage gross margin. This is gross profit as a percentage of revenue. In Albert’s case, it is 65/75, or 87 per cent. This is a high gross margin, which means that there is a high net benefit to his business from each sale that he makes.

Operating expenses include all of the costs of making and selling furniture, excluding those already charged as costs of goods sold. Very approximately, these costs can be viewed as fixed, as opposed to variable. In other words, they remain broadly the same in any given period of time regardless of the output achieved during that period. In Albert’s case, even if he fails to make a single sale, he is likely to continue to pay his employee a salary, he will still be obliged to pay rent on his workshop and his equipment will probably depreciate at a similar rate.

In the same sense that revenue can be earned during a period without cash necessarily being received in that period, so it is also possible for expenses to be incurred even if there is no concurrent cash payment. This is best illustrated in Albert’s case with the example of depreciation, which is a measure of how much the value of his equipment has declined in the period, as a result of usage and the passage of time. This decline in value does not involve Albert spending any money. Rather, it involves the loss in value of an asset that Albert already owns. In effect, he is partially consuming an asset that he has to own and operate in order to be able to make furniture. For him, it is a cost of doing business, much like paying rent on his workshop. Both the depreciation and the rent are expenses, yet only the rent is actually a cash payment in the current period. In short, expense ad expenditure are not the same thing. An expense is a loss of value during the reporting period, whether this involves spending money (expenditure) or consuming assets (in Albert’s case, depreciation on his equipment).

Operating profit is a measure of the gain that Albert achieves by making and selling furniture. This gain will be split three ways. First, Albert will pay interest on the money that he has borrowed from the bank. Second, he will pay tax. Third, the remainder of the profit he will keep for himself. Operating profit is an important subtotal because it measures the total gain made by operating a business, in this case in the furniture industry, out of which distributions can be made to providers of finance and to the government.

Interest expense is the cost of borrowing money from the bank. Albert initially borrowed money from the bank in order to invest in equipment and other assets. This investment generated an operating profit, and now some of that profit must be allocated to paying the cost of borrowing.

Profit before tax is the surplus of operating profit over interest expense. It is the basis on which the organisation’s tax liability can be calculated.

Tax, in its simplest form, is calculated as a percentage of profit before tax. In Albert’s case the tax rate is 30 per cent.

Profit after tax (sometimes called net income) is the ‘bottom line’. It is the amount made by the owners of the business during the reporting period, because it is equal to the total value of the output of the business, less the total of expenses (including interest and tax) incurred to generate that output.

The income statement is the most commonly used and important of the financial statements. It is helpful, therefore, for you to know how to respond if asked to comment on an income statement, for which you will probably be given information from more than just the current year. The outline above suggests that you might ask questions such as the following.

1. Are revenues increasing over time? Is the change due to a greater or smaller volume of output, or to a higher or lower price, or to some combination of the two?

2. Is this a business with a high or a low gross margin? Is the gross margin increasing or decreasing over time? Is the change in the margin due to sales price or to the cost per unit of goods sold? Or is the margin change the result of a change in product mix, whereby products with different margins are now being sold in different relative quantities?

3. Are operating expenses increasing over time, and is the rate of increase faster or slower than that of revenue?

4. Are borrowing expenses increasing over time, and is the interest cost a greater or lesser percentage of operating profit?

5. Is the tax rate changing over time?

6. Is the company profitable, and is it likely to remain so?

